MCR 3U9
Grade 11 AP Mathematics

M. N. Nolfi A dasply

Victim: % Jaa«ﬁaw
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1. Consider the quintic polynomial function p(x)=4x"+32x*.

(a) Fully factor the polynomial. (3 KU)\ (b) Use the factored form of the polynomial to sketch the graph of

y=p(x). (4KU)
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(c) Use the factored form to solve the (d) Use the factored form and the graph to solve the inequality
equation 4x°+32x*=0. (3 KU) 4x° +32x* > 0. State the solution set using both set notation
.,2( )( 2.9 O and ngerval notation. (6 KU)
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2. Solve the polynomial inequality 2(x 4) (x+3)<0 State the solution set usi

both set notation and interval notation. In addition, include a graph that clearly
shows the solution set. (6 APP) Let F(x) =~ 9(7( 4) 'X+3)
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3. Solve the polynomial equation x° —13x* +14x =88&. Include a graph that clearly
shows the solutions of the equation. (10 APP)
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4. Write an inequiMty that comkéSponds towie diagram given at the right. In o
addition, state the solution set using both set notation and interval y/=46 48] 1/
notation. (Do not solve the inequality. You should be able to see the d4r '
solution just by looking at the graphs.) (5 TIPS) S o !
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5. W‘p’ehmw.alaf‘m f( \i—x"+kx2+(8k —1)x—70 has two turning points,
h

no global extreme points and when it is divided by x—2, the remainder is zero.
Determine the values of n and k as well as any other zeros of f. Then sketch the

graph of y=f (x) Hint: There is no way to calculate the value of n. The best
approach is to choose the simplest possible value of n. (8 TIPS)
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